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CUNPASSION ANDROYS

Show all working — NO calculator required.
Marks
Sj lif ﬂ 3
- SImpity xZ+x-20 )
E 7 _3 0 5 ingle fraction in its simplest f 2
. Express, th  x X # 0, x # -5, as a single fraction in its simplest form. 2
E e, 1 b #0, initssimplest f 3
. Express, RIS #0, inits simplest form. 3
E i+i 3 2 ingle fraction in its simplest f 3
. Express, =3 " 312 X # 3, X # -2, as a single fraction in its simplest form. (3)
Simplif _ X725 3
- IMpity 2x2+48x-10 ®)
E 2 2 2 in its simplest f 3
. Express, 22 p2 p #2,p#-2inits simplest form. 3)
E 23 1 3 ingle fraction in its simplest f 3
. Express, o1 x23 X # 1, x # -3, as a single fraction in its simplest form. (3)

Total Marks: 20




